Algebra 2 Worksheet

Name:

Section 10.5 - Parabolas DAY TWO

Period: __

Write the equation in standard form for each parabola, and give the domain and the range. The
graph is provided for you to sketch what is given in order to better write the equation.

1. parabola with its vertex at (_\,5’ E“3) and its focus at (2,-3)

Direction it opens: ___'C 1 o Wt
Valueof p: __* F Y

Equation in Standard Form:

(9+3)* = 28 (w=+s)
Domain: 2=
Range: TR

31.
(\j—"(—-dl‘ = Yo (x=W)

2. parabola with its vertex at (61—3) and its focus at (6, —4)

Direction it opens: d\QW N

Valueof p: __ —2

Equation in Standard Form:
(x-)* = g (y+a)

Domain: 1R -

Range: d} & —2.

X'L—

(x-W)* = o (34&}

PR 71
3. parabola with its vertex at (0, 07 and its

Direction it opens: ue
Valueof p: __* 3 ‘
Equation in Standard Form:
(x=0)* = \2ly=-0)
Domain: R 0

Range: b‘\l Z o

directrix at y=-3

(=

K

e=h)® = g (y-k)

S S0 S

........

4. parabola with its focus at (2, 6) and its directrix at x = —4

Direction it opens: CianYt
Valueof p: _+* 3 o
Equation in Standard Form:

I

(W -b)* = “31<X‘*’})

Domain: __X_ = —|
Range: R

kﬁ‘!’
(y~k)™ = Kp (x=ln)

5. parabola with its focus at (4, —2) and its

directrixat y=6

Direction it opens: CLO W
Value of p: __ — %G

Equation in Standard Form:

T

X
(x-W)" = Yo {3~‘L¢)

N = !
(y—w)’; = = Mg Loy =2
Domain: i %
Range: = B
£




Werite the parabolad’s equation in standard form.

we opems down

P
(k—'\njm - “\? (;\:J'-V-)

J

\57—) 0pans '-rﬁc:jhi;
g = ¥l

y F v
Yp(x-h)

(_\3 .._\’:a'}g =

('ﬂ-"&‘f—f %\:'E){.X“"f\)

Equation in Standard Form:

Equation in Standard Form:

Equation in Standard Form:

(x+4)* = -2 (y-0)

(y=-2)* =

4 (x-) (y+4)*= —l6 (x-3)

151,

Find the standard form of each parabola by completing the square. Then graph the parabola.

7. X’ —4x-8y+28=0
b i S 8\3 -a% + %

(X‘-Lr)li 83-2%

8. ¥y +4x+2y-11=0
\51*l3+-1~ = =] ¥ |
L\\l)-\'\ = —udyx tyo
f

%
N ‘i’i,:ll =g (%~ 3)

(@

i i

Equation in Standard Form:
(x=2)* = glu-3)

Direction it opens: W p
Vertex: (& , 3 )
* 2
hS

Value of p:
2

Axis of Symmetry:
1.5

M= \

N7

Focus: (

Directrix:

Equation in Standard Form:
(u+\)* = — & (x +3Y)

Direction it opens: lef t

Vertex: (-3, —\ )

Value of p: — |

Axis of Symmetry: u = =\
Focus: ( -4 5 =
Directrix: X = =~




